A & 0l & AFSE & Al M
2008 T = 1 5] Lersl
A ERIE D
Mol e ANIIE 2 ]
SP M MR Al (S:da)
SN B O(3H) - MRAY - BAS Ofl &k plE-Ll HRZ
19,537,439 17,980,312 1,557,127
2 1,137,248 861,993 275,255
=) EEn 2 9,954,000 9,954,000 0
= 10,829 11,691 ABB2
S 8,435,362 7,152,628 1,282,734
16,430,564 15,482,440 948, 124
ormEl AHI|L B2 = 828,800 600,000 228,800
o 9,954,000 9,954,000 0
= 5,647,764 4,928,440 719,324
FHENE A 323,180 321,940 1,240
oAl - MIE - 2o =235} 67,600 76,600 29,000
201 LEH2Ed| 37,200 42,200 25,000
01 AFR2l| 37,200 39,200 £2,000
OMAAT SL0HH Ol 2 32,000 34,000 £2,000
03 HAI2ZHI 0 3,000 A3,000
OBHHTET FAM E235] HE 0 3,000 3,000
307 2I2H0I 26,000 30,000 24,000
04 DIHHABE 26,000 30,000 24,000
OZAINEH 29 26,000 30,000 A4,000
FIA 885 (1S =& 8,500 10,000 A1,500
301 ABRAS 8,500 0,000 21,500
10 BAAHIEAE 8,500 10,000 A1,500
© "8 -0, T8 -EU, S FIALS 8,500 0,000 A1,500
NAFHEH 288 FH 247,080 235,340 11,740
201 LEH2Ed| 58,287 9,547 48,740
01 AtR2eltl 8,287 9,547 21,260
OXGZH 2L BANST S 8,287 9,547 A1,260
03 AI2ZH| 50,000 0 50,000
OHMb2l OHetel=s NXIZEUHE &t 50,000 0 50,000
202 o4t 122,393 142,798 A20,400
01 =LHoit| 23,793 26,793 3,000
OXNL3 N dst2d PRFL S 23,793 26,793 A3,000
03 =20l 98,600 116,000 217,400
OXNABH BH32Y PR 25,500 30,000 A4,500
OHeIAIE W= & MAIZES &t 42,500 50,000 A7,500
A=INP=X =& 17,000 20,000 A3,000
OXANALH HRET 8,500 10,000 A1,500
OB ZNALE ARFH 5,100 6,000 A900
203 HR=&H 66,400 83,000 216,600
03 AIEFAHIRFIH| 66,400 83,000 A 16,600
OXGAN L BB 245 =& 48,000 60,000 A12,000
OXAAH A3t AMFA 16,000 20,000 A4,000
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SRR
Mol E AN IIE 2
|

SP M MR Al (e 5d)
SN B O(3H) - MRAY - BAS Ofl &k plE-Ll HRZ
OMHAIT 2H5 L UA 2EEE =
& 2,400 3,000 A600
13,620,690 13,185,500 435,190
AL S0 2 215,000 0 215,000
2 9,954,000 9,954,000 0
= 3,451,690 3,231,500 220,190
THeHAIE ot 2te] 325,900 256,000 69,900
308 X+XIEHHMI SO0l 325,900 256,000 69,900
01 RHXIEHHIZ & 325,900 256,000 69,900
OXHcHAIZ 2 H 305,400 231,000 74,400
OTHHAIZ SITHEE Jtd] 20,500 25,000 24,500
MHeHAIE &3t =28 80,440 69,000 11,440
201 e+ 33,440 39,000 A5,560
01 AtR2eldl 13,040 15,000 21,960
OSHSIANT ESHT HH 8,700 10,000 A1,300
OTHHAIT 22s] RA2Y 4,340 5,000 660
03 HAI2ZH| 20,400 24,000 A3,600
OMRHAIE BE 29 20,400 24,000 3,600
307 2I2H0IA 47,000 30,000 7,000
02 SIANANEE 47,000 30,000 17,000
OMCHAIE &ZH 88 27,000 30,000 A3,000
OMAIT HEN 2oE BH 20,000 0 20,000
HHAIZ 25 ZF(FHEENR) 60,000 0 60,000
307 2I2H0I A 60,000 0 60,000
02 SIANANEBE 60,000 0 60,000
OMHAE E2ES 60,000 0 60,000
THRHAIZarel o 2r25t 8,500 10,000 A1,500
301 BB 8,500 0,000 21,500
10 BAAHIEAE 8,500 10,000 A1,500
OMCHAIZ &felA3| LA 24 8,500 10,000 A 1,500
THEHAIZ Aol A2t 5H SR XIH) 32,600 0 32,600
307 2I2+01 ™ 32,600 0 32,600
02 RIZFAEX 32,600 0 32,600
OTHHAIZAIOl 2B 32,600 0 32,600
OS=AIE &4ZHAE WA 29,000 0 29,000
OaQIZRE L3HALY 3,600 0 3,600
EREEENEES 6,000 7,000 A1,000
201 B2 gy] 1,700 2,000 A300
01 AtR22ldl 1,700 2,000 A300
OMCHAIZ2tSH HALKRE S 1,700 2,000 A 300
202 o4t 4,300 5,000 ATO00
01 =LHoit| 4,300 5,000 AT00
OTHAIR BZMLALZE B 4,300 5,000 ATO0
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AR ESE

M otEE FHole =g

CHol THHAIS 2231 (e 5d)
SN - FE . SR(EA) - MRAY - BaS 0] &k o8 plE=LN HimE=ET

263,750 0 263,750

AR 2EEHEAI (2 D) 2 215,000 0 215,000

= 48,750 0 48,750

170,000 0 170,000

308 XHXIE4H SO = 140,000 0 140,000

= 30,000 0 30,000

01 XASHBYSBES 170,000 0 170,000

OS5 ATEAAY (2007HE) 30,000 0 30,000

CEVEREETES 140,000 0 140,000

3 140,000 0 140,000

93,750 0 93,750

403 XIXISHH S K20/ E 2 75,000 0 75,000

= 18,750 0 18,750

01 XXSHN=EE 93,750 0 93,750

ORZME BEAY 93,750 0 93,750

2 75,000 0 75,000

= 18,750 0 18,750

125,994 14,000 11,994

SotalS AHINES = 13,800 0 13,800

= 112,194 114,000 A1,806

oty Nol 2otael 66,604 70,000 £3,3%

201 YBr2gy] 2,604 3,000 3%

01 ARl 2,604 3,000 A396

OSItIZY A X 2,604 3,000 £39

01 ABRAZ 54,000 55,000 A1,000

10 BAAHIEAE 54,000 55,000 A1,000

OSINBLIEIQR 9145 &N 24 7,000 8,000 A1,000

303 EAD 10,000 2,000 22,000

ELE 0,000 12,000 £2,000

oSItael 24 AR 24 0,000 12,000 £2,000

AHIXIEH KR AR 7 39,190 40,000 £810

201 g2yl 850 1,000 A150

01 AFR2I] 850 1,000 A150

OAHIN PEA BAE S 850 1,000 A150

01 LPEAF 4,340 5,000 2660

N ERE 4,340 5,000 660

OLHIMEH XY o4 &N 2o 4,340 5,000 2660

IRl U AHINES B 92 =7 3,400 4,000 £600

202 o1t 3,400 4,000 £600

01 =LHois| 3,400 4,000 2600

OSItrY B2l U A HE =7 3,400 4,000 A600

16,800 0 16,800

AHIREBAY £ (2D) 2 3,800 0 13,800

= 3,000 0 3,000
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AR ESE

Mol 2N D8 =2

chel: 201229 AHIXES (29 83)
SH - BB SAEA) - NRAY - B3 0O &1 24 plE-L" e+

301 LerE AR 3,000 0 3,000

12 JleEaz 3,000 0 3,000

OAHINEH T+ QIF2 2R} AH 24t 3,000 0 3,000

207 01210( 5 13,800 0 13,800

o 13,800 0 13,800

02 QIZFHAEXE 13,800 0 13,800

OAHIKIEHA T+ QIF22X} QI24H| K| 2 13,800 0 13,800

= 13,800 0 13,800

2,360,700 1,861,000 499,700

AMEOI X =] 600, 000 600,000 0

[ 1,760,700 1,261,000 499,700

AAZOl AHSABIAY =X 41,700 42,000 A300

202 01t 1,700 2,000 A300

01 =Ko 1,700 2,000 2300

OAMZOl A OHN3 B A2HO 1,700 2,000 A300

AAZOl HY U AAOHENS OIAEA =& 1,500,000 1,000,000 500,000

307 RIZHOIA 1,500,000 1,000,000 500,000

02 DItFAEE 1,500,000 1,000,000 500,000

OAAZBOl FHel U AAOH SX2 OIX

2 1,500,000 1,000,000 500,000

0,664,842 2,040,212 624,630

AN AFR B B = 308,448 201,993 4.4%5

2 10,829 11,691 862

= 2,345,565 1,766,528 579,037

0,035,574 1,610,212 625,362

s ey =2 308,448 261,993 46,455

= 10,829 11,691 862

= 1,916,297 1,336,508 579,769

T FYETAY EX 403,700 333,000 70,700

101 12| 336,000 264,000 72,000

10 JIZH22HsSES 336,000 264,000 72,000

OBZII2 QIE 336,000 264,000 72,000

201 et | 4,300 5,000 AT00

01 A2l 3,000 3,500 500

OHEASF AN BAIRAADEX 3,000 3,500 AB00

OFX2 A M= S 1,700 2,000 2300

OFAXY BA ALY S 1,300 1,500 2200

02 ZzZ29H| 1,300 1,500 A200

OFYETAY 2 282 S 1,300 1,500 A200

202 01t 3,400 4,000 2600

01 =LHoiH 3,400 4,000 2600

OF YA ARE AFAZEE 3,400 4,000 2600

N2 HLETAY X 919,400 372,200 547,200

308 THXIEHHISOIH 919,400 372,200 547,200
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A RIE D o

Seimnz swns (51 28)
SA - FHH . C(SH) - HRAY - B Ofl &k plE-Ll HRZ

01 NSHBYBES 919,400 372,200 547,200

ORI IsAEY 147,200 150,000 A2,800

Ol =4 D =HE XY 147,200 150,000 £2,800

OZT 2RAY 550,000 0 550,000

343,274 291,012 52,262

AT DBRIESHXR(I1) = 308,448 261,993 46,455

== 34,826 29,019 5,807

43,274 291,012 52,262

308 XAXItHSOIA = 308,448 261,993 46,455

= 34,826 29,019 5,807

01 MXEHHBSEXS 343,274 291,012 52,262

0D8 EXEBAY XY 313,433 261,171 52,262

OXY AHX Hg=d 313,433 261,171 52,262

= 278,607 232,152 46,455

= 34,806 29,019 5,807

32,000 32,000 0

=322 ZLHY FA(=1) = 10,829 11,691 ABB2

S 21,171 20,309 862

32,000 32,000 0

101 el24d] = 10,829 11,691 A8B2

= 21,171 20,309 862

10 JIZtHI2E2XNsSE = 32,000 32,000 0

ozzZ2z 2UHY 32,000 32,000 0

= 10,829 11,691 A 862

= 21,171 20,309 862

24 JlE IS0l g8 =7 537,200 582,000 44,800

202 o4t 1,700 2,000 A300

01 =LHOHI 1,700 2,000 A300

O%+ 015 2dAY =& 1,700 2,000 A 300

307 2I2+01 ™ 195,500 230,000 A 34,500

02 SIAANEBE 195,500 230,000 34,500

OITE20I1Z 2y 170,000 200,000 230,000

OJ1sed 2d XA /A3 25,500 30,000 A4,500

402 Q1A T=0IH 340,000 350,000 210,000

02 QIZHTHEEARRIE] 340,000 350,000 10,000

©I1sZIItE WA 2 BT 340,000 350,000 210,000

& A28 AR 429,268 430,000 AT32

224 # 2 EXNSE ALY F=8 297,268 298,000 AT32

201 LEr2Ed| 868 1,000 A132

01 AtR2eltl 868 1,000 N132

OLAF BHEIREIEY 2R BAKIR 868 1,000 A132

202 O4d| 4,400 5,000 A600

01 =LHOHI 4,400 5,000 A600
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oo 2l (S &)
2H -3 2qA(3AH) - MEAY - HES 0| &l J| A Hnsz

| | | OLAl Bt ge=x 4,400 5,000 AB00

HEHSHAH|(ZHED) 442,033 457,660 15,627

NEET 417,027 418,227 1,200

229 0121y X 417,027 418,227 1,200

203 YR=AY| 27,600 28,800 1,200

01 JBSAUAL=FY| 4,800 6,000 A1,200

o=% 4,800 6,000 21,200

Jl= 2| 25,006 39,433 A14,427

SheY Jl22Y 25,006 39,433 A14,427

201 Ler29| 17,516 26,953 A9,437

01 AlS22/H]| 16,016 25,453 A9,437

SH2Y Al 16,016 25,453 ~9,437

202 OiH| 7,490 12,480 4,990

01 2UHoidl 7,490 12,480 74,990

oRN2Y U0t 7,490 12,480 A4,990
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